SHbEE JIEmETKERERIEHIRE
(MEEZE-108REL)

(F )

1 CZIZREHLTHAZEEIZODVLWTIE. AF10ARENDRBLTHA-O. ERIZHKTTS
TEAEHBELELDGEO, CIIZEBHELTWVENWIELAF IZINSGEAHYET,

2 FEMEHI250FAZFBASHELDEH/ELTIVNET,
3 JIIMEHmREIOBRBZIZIZOVTIE, MIZARLTBYET,

NBHYRAdY v SO5— &6



FEZE « v v v e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e 2
BB+ v v h e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e 3
BB e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e A
BEHBE © 0 0 e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e 6
s e - L 7



WERMAH 1575 00 %78 S gaoil | RITE | rmwm B4
BEEBREKEMRLIE | fogpun ~ — _jpas s s
(== G555 [ [T A KFREHEMAFA| R5.05 R6.01 TR [E&K=320m RAFA | R504 ([RIEFH KERR
EEME&EE7}<%W¢%1EI$ =n =1 ~ —_— — [/ 33 N S M
(R 1R (E ) KFHIISH R [F D R5.06 R6.11 TR [EK=1190m RAFA | R504 ([FIEFH KERR
FEHREAETHELZOM Rl 203 :

B RFEHMA R603 ~ R612 | A |EE=860m —ieEEe AfL | R603 |HARSHRER IKERR
TH(XFEH) RET EFH
EZ K BRI TS RFHPiEHNA R5.11 ~ R6.05 TR [EER=80m b= 2249 R5.11  |#7#R IKEER

(KFHtE)




RERULT L £3P ARRY | BEIFE | pammp
%18 2 s | m LB 2%
NEH ETRERLMBRES| ZARM2IBMOE | ooos o peor | pzm |[BREKBEOBTE| _wen s | rsos |sorms 48k —E 252

HETE

H

A




A 17 190 #718 = ﬁg"&)&ﬁ‘g RETE | zm@m =P

FESKBEARWESTH| a0 H OB by s | me |TEIERRER _pmein | ron ETKEER 5




BERELH 157 3 %7 e gaoil | RITE | rmwm 24
FKERRIE GELRTIIA) [[EELRTHMAIEH R5.05 ~ R5.09 g [ZEKR=80m — &R A AL R5.04 |REEH KiEER
EARDERRTORIE | Finimim R506 ~ Rsi2 | #& [E&E=720m —EEAN | Ro04 |HEEA KB
CERBRAREELLE e xmamm R505 ~ RSl | #& [EE=297m —EEAN | Ro04 |HEEA KR
R KM L Ot | kst aimiemiEn| RS0 ~ Re03 | &  |E&=740m —WEEAN | Ro04 |HEEA KR
FEKERRIE(MIH2TH) (Mi52T BH#RN R5.06 ~ R6.01 & |EKR=620m — &R A AL R5.04 |®EEH VST S
%gfﬁﬁﬂ%a&ﬁl%(gw' SE4TBEH#A R5.06 ~ R6.03 & ER=990m —REERF A AL R5.05 [FEEFEH VST S
gﬁ%ﬁﬁj}ﬁé&ﬁl%@ﬁﬁ BEBEITHHA R5.07 ~ R5.12 & ER=230m —REERF A AL R5.06 [FE&EFHFH KiEER
B AN EMRILTOR e mizn RS0 ~ R602 | & [EE=1%0m —BEAL | RSO0 |BEFH KitEE
EEEZK%E&EI%%EEETST FEET3T B R5.06 ~ R6.03 & ER=640m —REERF A AL R5.05 [FE&EFEH KiEER
RAKERRIE(KFAEFR) | KFARFHHA R5.06 ~ R6.03 & ER=690m —REERF A AL R505 |RiTFEH Y STE: 2
%gﬁ(ﬁi&g%ﬁé}‘m%{t%@m KRFRSHEHRA R5.08 ~ R6.02 & ER=730m —REERF A AL R5.07 [FEZTFEH Y STE: 2
BOKERRTOMTE R | gy T 540 R506 ~ R602 | & [EE=710m e AL | Ro0s |RrEa KRR

1TH)




FEEH AT 5 2 %78 BE gaoil | RITE | rmwm 27
%Egkfé‘%ﬁ%mmlyﬁﬁ FEET6 T B R5.06 ~ R6.02 & ER =600m — R F A AL R5.05 |[FETFEH KiEER
BRAKEHRRIE(RKFATRE) | KFATFHAN R5.08 ~ R6.02 & ERK =500m — R F A AL R5.06 [FETFHEH KiEER
E;%;Mﬁﬁj]%a&ﬁlg(x;{% KRR R508 ~ R6.03 % |E£E=470m — MBS ALl | R506  |RTFH P Sk
%ﬁfﬁﬁj}%aﬂﬁl%(x?a ARFOHA LA R5.07 ~ R6.02 & ER =240m —REERF A AL R5.06 |[FETFEH VST S
RKEZRIE(KFSE) |(KFESEHRRA R5.09 ~ R6.01 &  |E&K=400m — &R A AL R5.08 |®iEEH VST S
ECKMBNER RIS () (= xThTA R5.08 ~ R6.03 & |E&R=440m — &R A AL R5.07 |®EFEH VST S
FUKRBIERRTE (KT | xopr )i R506 ~ R508 | & |[E&E=115m — MBS AAL | R506  |RTFH KiEaR

n




BERM L 5 o %78 BE gaoil | RITE | rmwm e
. e =k £ ﬁﬂf‘sﬂtﬁﬁﬂ
Z&’%:ffé}ﬁjﬁwﬁml% KFHIIE N R512 ~ R6.01 i [FFE=1180m —fnEEs A KL R5.11 ﬁ%’*wﬁﬁﬁ IKER
T E R A
KEIEICHSHERIBIE ?ﬁﬁ?
T - N ‘ T enes 47 P 4% 41 s
(%ﬁTEETGSTE) %JHEET6TEi‘|'I_",W R5.11 R6.01 % % :F$ﬂ—670m .xﬁﬂ%)\*[, R5.10 g% H%ﬁ 7]()5“%
T EREA
.. — ik S et 4
?;éiléyé“%}*ﬁ;; =@IETH REFEXRBHEA R5.08 ~ R5.12 ¥  |FE=2700m —Hg B4 A KL R507 |%FHEH JKiEE
KETHHSHEEATE |57 o CNEN2E | goo9  ~ Rtz | g |TAE=200m —MEEALL | RS08 |FEFEA Bk —E 2B
KETEHOBEEOIE | ommupmzEn | RS0 ~ ReOT | M3  [FH=70ni e AM | RSO0 |BEa Ak —E R
3 TSRS HARE 15 A
KB LEIHFSMERIBTE 52T B# N R512 ~ R6.03 HE  [FiE=23860m — SRS AL R5.11  |EARS4& A IKEER

(M152TH)

I T ERH




BERMETH 1577 s 278 BE gaoil | RITE | rmwm e
B KIBRAKS TRINE |, . WRBE (FEAABRAL | . s
$TH HfERT6 T B10% 4 | R5.12 * e e AL | RS LTKEERL S




AEEMLTH 1B %3R8 %78 Bz gaoil | RITE | rmwm o
p=8 =] 3 = BoKitEsE —=X
FIEFNBRAOBERUSD Mo TE10%M4 | RE06 ~ R603 | KEMH BAEBMELIS| —RHEAL | RS04 |RE%s  |LTcssmes—

NERMELETSE

—x




